YMNOYPTEIO MNAIAEIAZ KAI MOAITIZMOY
AIEYOYNZH ANQTEPHZ KAl ANQTATHZ EKMAIAEYZHZ
YMNHPEZIA EZEETAZEQN

FPANTEZ EZETAZEIZ I'lA ETTPA®H KAI KATATA=H
2TOYZ NINAKEZ AIOPIZIMQN

E¢etalopevo padbnua: AOIIZTIKH - MEPOZ A (35 Movadeg)

Huepopnvia kal wpa e&€raong: Tpitn, 7 NoguBpiouv 2017
15:30 - 18:30

TO ESETAZTIKO AOKIMIO AMNOTEAEITAI AMNO MNENTE (5) ZEAIAEZ

OAHIIEZ:

o Na ammavtoeTe € OAEG TIG EPWTACEIC OTO TETPADIO ATTAVTHOEWY AVAPEPOVTAG TN
OwaoTH apibunon TTou avTioToIXE(

e OAol o1 uttoAoyiopoi TTPETTEI va @aivovTal KaBapd oTo TETPAdIO Cag

o EmTpétTeTan n xprion pn TTPOYPARMATICOPEVNG UTTOAOYIOTIKAG PNXAVIG

o Agv emTtpéTTeTal N Xpron S10pBwTIKOU uypou/Taiviag



Na atravTiCETE TIG TTI0 KATW £pWTAOEIG(1-3) €iTE OTA EAANVIKA OTA EITE AyYAIKA
OTO TETPADIO ATTAVTHOEWV

QUESTION 1
Accounting concepts are applied when preparing the financial statements of a
business.

(a) Explain the following accounting concepts. Give one example for each:
(i) Accruals concept
(i) Going concern concept
(Up to 60 words)

(b) In each of the following cases, state which accounting concept is applied:

(i) The purchase of a small calculator to be used in the office

(ii) A business adopted the straight line method in order to depreciate its buildings

every year
(5 marks)

EPQTHZH 1
O1 NoyIoTIKEG ApXEG e@apudlovTal KATA TNV TTPOETOINOCIA TWV XPNHUATOOIKOVOUIKWY
KOTAOTACEWV PIAG ETTIXEIPNONG.

(a) E&¢nynoTe Tig Mo K&Tw AoyIoTIKEG ApxEC. AwaTe £va TTapadelyua yia tn KABe pia:
() Apxn Aedouleupévwv
(i) Apxn TnG Asitoupyouaoag TTIXEipnong
(Méxp1 60 Aégeig)
(B) Na kd&Be pia atrd TIG MO KATW TTEPITITWOEIG ,VA AVAPEPETE TN AOYIOTIKI apxr TTou
EQapPMUOLETAI:
(i) Ayopd PIKPG UTTOAOYIOTIKAG INXAVAG VIO YPOQPEIAKN XPron
(i) Mia emixeipnon epapudlel Tn Z1abepry MéB0SO yia TNV aTTOCRECN TWV KTIPIWV
TNG KAOE £T0G. (5 povadeq)

QUESTION 2

Students were given a question on the preparation of partnership financial statements.
Nicolas, a student, recorded a partner’s private petrol bill in the partnership’s books as
part of the partnership’s motor vehicle expenses.

(i) Explain to your students why the above treatment is not correct, referring to the
relevant concept (Up to 35 words)

(i) How does the wrong treatment affect the partnership profits?

(iii) Show the journal entry to correct Nicolas’ error (5 marks)



EPQTHZH 2
AGBNKe OTOUG HOBNTEG PIA £PWTNON YIA TNV TTPOETOIPATCIA TWV XPNHOATOOIKOVOUIKWV
KATAOTAOCEWYV TOU CUVETAIPICHOU.
O NIk6Aag, €vag pabnTig, Katéypawe Eva TTPOCWTTIKO TIHOAGYIO Bevivng TOU CUVETAIPOU
WG MEPOG TWV £EO6OWYV TOU YOPTNYOU TOU CUVETAIPICHOU.

() Na g&nynoete yiaTi o 1o TTavw XEIPIoOPOS deV ival CWOTOG, KAVOVTAS avagpopd

oTn oXeTIKA AoyioTIK apx (Méxpr 35 AEEeiq)
(i) Mwg o o TTaAvw XEIPIOPOG ETTNPEACEI TO KEPON TOU CUVETAIPIOUOU;
(i) Na &¢ciceTe TNV nuEPOAoyIakn eyypagn yia Tn d16pBwaon Tou AdBoug.
(5 povadeg)

QUESTION 3
Petros owns a business and intends to invest €200.000 in shares. He is uncertain
whether to buy ordinary shares of €1 each or 6% preference shares of €1 each.

(&) You are required to list the three (3) main characteristics of ordinary and preference
shares so as to help Petros take his decision (Up to 30 words)
(b) Petros decided to buy 160.000 ordinary shares at €1,25 each.
Show the journal entry in Petros’ business books in order to record the above
transaction.
(5 marks)
EPQTHZH 3.
O TléTpog gival IBIOKTATNG MIOG ETTIXEIPNONG Kal TTpoTiBeTal va eTTevOUoel €200.000 o€
MeTOXEG. Acgv gival oiyoupog av Ba TTPETTElI va ayopdoel KOIVEG (OUVABEIG) JeTOXEG Tou €1
N KABe pia ) 6% TTPOVOUIOUXEG NETOXEG TOU €1 N KAOE pia.

(a) KaAgioTte va dwaoete Ta Tpia (3) KUPIO XapAKTNPIOTIKA TOGO TwV KOIVWYV (GUVABEIC)
000 Kal TWV TTPOVOPIOUXWYV PETOXWV Yyia va Bondrioete Tov MNMéTpo va mépel TRV
ammogacn Tou. (Méxpr 30 A€geig)

(B) O Mértpocg atmmopdaoioce va ayopdoel 160.000 ouviBeig peToxég TTpog €1,25 n KaBe
Mia. Na dgigete TNV nuepoAoyIakr eyypaen ota AoyioTika BIBAia TnG €TTIXEipnong
Tou METpOU, yia TNV KaTtaypa®n autrig TNG ouvaAAayng. (5 povadeg)




QUESTION 4
2HMEIQZH : H Oswpia Twv 800 TTI0 KATW EPWTACEWV HUTTOPEI va aTravTnOEi giTe
oTa eEAANVIKA EiTE OTA ayyAIKA

Students were asked to prepare the trial balance at the end of an accounting year.
Maria, a student, prepared a trial balance which failed to agree since it contained a
number of errors. The totals being:

Debit €818.202

Credit  €810.820
The teacher asked the students to give possible errors that could fully account for the
difference. The students came out with the following answers:

A. The omission from the trial balance of a prepaid expense €7.382

B. Discounts allowed of €3.691 debited to the discounts received account, in error
C. No entries made in the records for cash purchases totaling €7.382

D. Bank overdraft of €3.691 was included in the trial balance as a debit

(i) Which of the above answers (A to D) is the correct one and why? (Up to 15 words)
(Mo até g atravtnoelg (A to D) ival n opdr) kai yiari;) (Méxpr 15 AEEeig)
(if) Explain why the rest of the answers are not correct (Up to 45 words)
(E¢nyeioTe yiati o1 uTTOAOITTEG aTTAVTHOEIG eV €ival 0pBEG) (Méxpl 45 AEEEIg)
(5 marks)

QUESTION 5
Augusta pays for her telephone calls quarterly in arrears. The amounts paid
on 1 February 2017 was €100, on 1 May 2017 €120 and on 1 August
2017 €150. Itis estimated that the next bill will approximately be €150.

Which one of the following statements (A to D) relating to the telephone account, for
the year ended 31 October 2017 is correct?

A. Amount of €370 in the income statement, with an accrual of €150 in the
statement of financial position
B. Amount of €370 in the income statement, with no entry in the statement of

financial position
C. Amount of €520 in the income statement, with an accrual of €150 in the
statement of financial position
D. Amount of €520 in the income statement, with a prepayment of €150 in the
statement of financial position
(5 marks)



QUESTION 6

Stylianos plc has the following information in its financial statements relating to fixtures
and fittings as at 31 December:

2016 2015
€ €
Cost 600.000 480.000
Accumulated depreciation 180.000 218.000
Net Book Value (Carrying amount) 420.000 262.000

During the year to 31 December 2016, the following transactions occurred in relation to
fixtures and fittings:

e Additions €284.000

e Sales proceeds from disposals €178.000

e Depreciation charge for the year €66.400

Calculate Stylianos plc’s profit or loss on disposal of fixtures and fittings.
Show all your workings to justify your answer
(5 marks)

QUESTION 7
A bank reconciliation statement for Proton Ltd at 31 December 2016 is in course of
preparation. During the annual audit, the following information was found:

1. Overdrawn balance as per bank statement is €1.019

2. Cheques drawn and entered but not presented total €2.467

3. Bank charges €1.875 debited by the bank have not been entered in the cash
book

4. Cash and cheques received and entered but not credited in the bank

statement total €4.986

Using the information given above, compute the final cash book balance.
(5 marks)

(TOTAL MARKS 35)
TEAOZ MEPOYZ A



